29 Snook St

East Coast Bullbars (ECB Pty Ltd) f Clontarf QLD 4019
EAST COAST BULLBARS Tel 07 3897 5700 | Austra“a
Fax: 07 3283 1168 | Po Box 122
ecb@ecb.com.au www.ech.com.au ‘ E Qk?s?rg?ig
UBSY32A REPLACES: 00.00.00

REVISED: 12.04.12
FITTING INSTRUCTIONS

SSANGYONG ACTYON 01/12 ON
UNDER BODY GUARD TO SUIT ECB ARC BAR

Check installation hardware before commencing.

1. Ensure ECB protection bar is correctly fitted and aligned.

2. Remove original equipment plastic under body guard, four 12mm head bolts.

3. Place ECB under body guard on top of skirt return at front. Using M8 x 40 bolts, spring washers and flat
washers (supplied), attach rear of under body guard to front of rear cross member through holes in underside
of under body guard. Finger tighten only.

4. At very rear of under body guard, place M10 x 35 bolts and washers on wire(supplied) through chassis rails
from outside hole to hole aligning with under body guard rear mount. Attach to inside of chassis rails using
flat washer, spring washer and nut (supplied). Finger tighten only.

5. Attach front of under body guard to captive nuts where original equip plastic guard was removed. Use bolts
supplied with vehicle.

6. Using holes in under side of ECB protection bar skirt as a guide, drill front of under body guard to 6mm.
Install M6 x 25 bolts, flat washers and nyloc nuts (supplied).

7. Tighten all bolts.

Further VFPS Notes:

a) Do not attach VPS to the vehicle using anchorages not intended for this purpose (e.g. engine mounting bolts).
b) Do not use this product for any vehicle make or model, other than those specified by the VPS manufacturer.
c) Do not modify the structure of the VPS in any way.

f) ENSURE THESE INSTRUCTIONS ARE LEFT WITH VEHICLE OWNER AND/OR OPERATOR.

IMPORTANT INFORMATION
Periodically check bolts and nuts for correct tightness, especially if travelling on rough roads

FITTING KIT

1 — ECB under body guard 2 — M10 spring washers
2 — M8 x 40 x 1.25 bolts 2 — M10 x 1.25 nuts

2 — M8 flat washers 5 — M6 x 25 bolts

2 — M8 spring washers 10 — M6 flat washers

2 —M10 x 1.25 x 35 bolts and washers on 300mm wire 5 — M6 nyloc nuts

2 — M10 flat washers

© Copyright — ECB Pty Ltd — 2012 1




EAST COAST BUUBARS

East Coast Bullbars (ECB Pty Ltd)

Tel: 07 3897 5700
Fax: 07 3283 1168

ecb@ecb.com.au www.ech.com.au

29 Snook St
Clontarf QLD 4019
Australia

Po Box 122
Margate QLD 4019
Australia

Figure 1: Rear mount attachment to chassis
rail.

© Copyright — ECB Pty Ltd — 2012

Figure 2: Shown from front




East Coast Bullbars (ECB Pty Ltd) Pl

EAST COAST BUUBARS Tel 07 3897 5700 | | Austra“a
Fax: 07 3283 1168 Po Box 122

Margate QLD 4019

ecb@ecb.com.au www.ecb.com.au At

We value your comments

Dear Fitter,

ECB would like to know how you went with the installation of this product. We value your comment and may need to
contact you to clarify some details so please complete your contact details clearly.

We would appreciate if you could complete as many of the following details as possible.

Your Name: Your contact No.

Product Part No. Product Invoice No.

Product Description: Make, model, and year of vehicle:

Product Work Order No. Company your from/Company product purchased from:

Date of Fitment: / /

Yes No

Was the fitting hardware supplied complete?

If no what was not supplied

Yes No

Did the installation go well?

Please provide comments

Please draw diagrams if you need to.

Post to Fax to
Reply Paid 122 (07) 3283 1168
PO Box 122

© Copyright — ECB Pty Ltd — 2012 3



29 Snook St

East Coast Bullbars (ECB Py Ltd) R ahh
Tel: 07 3897 5700 : Australia
Fax: 07 3283 1168 Po Box 122
ecb@ecb.com.au www.ecb.com.au s Qk?s?rg?ig
Margate QLD 4019
DESPATCH CHECKLIST
UBSY32A
Work Order #
Finish:
Transport:
Due Date:
O 1-Under body guard
O 1-Dbolt kit
Is this product “the best it can be” Yes /

Wrapper’s initials / Checker initials

If NO fix before continuing

All parts checked and completed by:

Nut and bolts: Date / [/
Order control: Date / [
Final wrap check: Date / [

© Copyright — ECB Pty Ltd — 2012



